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a— K s Hk | B (kg) &5 (M) = i Sl PE Ht (BAD)
Y3002 =H (&47) 6 6, 584 1,728 356 356 | B 6kg
Y3011 BAYT (&) 14 7,191 702 648 - 270 | B l4kg
LY3100 &) BAM (F) 1,166 648 648 648 | B 2kg
39630 Emo~A Y 1,593 81 81 54 | B 233
31900 ¥ 1,620 108 108 108 | &M 154%
34300 72% 324 16 16 16 | B 20K
34330 Eipd 136 14, 937 54 17 3 BN 68274
34100 HAI 28 7,344 54 54 39| BN 14274
34200 FE/I 184 16, 483 216 65 36 BN 184kg
Y3033 | &AL 63 6,512 140 108 54 1 BN - 63kg
36200 EEHE 20 432 22 22 22| B 20kg
Y3044 E¥(B) 12 811 76 76 32| B 12kg
36600 7mERE 50 4, 860 97 97 97| BN 50kg
34930 'L A ¥ 74 5,127 38 36 3| &N 246K
34980 ~bE 27 2,154 32 22 16 | B 8974
35940 A¥EAEA 139 82, 890 648 648 432 | B 139kg
31500 /A 2 648 65 65 65| BN 1048
34800 B B 46 17, 086 59 32 24 | BN 461% v k
36340 B LR 26 9, 396 540 324 216 | BP9 26kg
34600 LLESNRHL 3 1,037 324 324 324 | BN 3kg
48000 U 185 34,182 1,242 972 486 | BN 37{E
Y4010 /NEF VA 104 17, 896 486 281 281 | BN 521H
Y4003 =2 — A 2 270 54 54 54 | BN 15{&
49470 Sy g I N—Y 29 28, 253 151 65 65| B 29418
71010 K% 1, 296 32 32 321 BN 404
71011 AT L—% 37, 854 43 43 16 | B A 1, 2104
71032 K7€+ (5F) 2,214 54 54 RPAR=T4 457K
71040 EAE 972 97 97 97 | BN 104
71150  LiE 691 54 32 32| BH 2038
30100 EWVWZ A M 43 8, 683 194 173 173 | JbifE 487K
30300 AZ L 80 13,932 1,944 1, 620 1,620 | HH 84— A
30600 LA I A 4 648 324 324 324 |BEAR 24— 2
31200 |LWE3E 4 3, 024 3,024 3,024 3,024 |EIR B 1r—2A
33810 FHHEE 2,376 119 119 119 | BER & 204%
31700 F ¥ N 20 6,912 3, 456 3, 456 3,456 |BEEB 24— A
31800 IEHINAE 6 4,212 162 162 119 |15 3048
31800 EH A 4 5, 724 5, 724 5, 724 5,724 | B IR 17 —2
31950 BHE M 9 3,186 1,188 1,188 810 | K4y 34—
31900 X ¥ 10 11, 988 648 594 594 |EEIR 5 207R (500g)
32800 {25 S 5 2, 268 65 | 32 32 | B IR 505
34300 729 L 25 1, 944 1,080 216 216 |BEA 54— R
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a—FK d s Fik | PER (kg) &% (1) =T o 2l PE H (BAL)
Y3123 HF R 9 875 54 54 C 43 RER 183w
34400 k= k 20 5, 940 1,296 1,296 1,080 | K%y 54— 2R
34400 k- b - M 12 3,888| 1,296 1,296 1,296 ml = 34 —=
34460 I =L F & M 10 5, 962 140 140 108 | e A 48,8y /
34100 #iK 50 13, 867 1,512 1, 404 1,296 | &I 1047 —2A
34100 #/K 17 2, 203 65 65 65 | B8 344%
34100 &K L 10 6, 048 3,024 3, 024 3,024 | 'EIk 24— A
34100 A B 20 2, 052 540 540 486 | IR & 44%
34200 &K B 20 1, 080 54 54 54 |V R 20kg
34571 AT U H (FR) 648 65 65 65 | E&[E 101#
34572 T U A () 1,188 119 119 119 |8 [E 1018
34573 X7 UH (ALrY) B 32 32 32 32 |4 118
36200 FBEnE 2L 60 3,510 648 594 540 | B iR 64—
36600 7-FERE L 80 12, 096 3,024 3, 024 3,024 | FLfE 45—
37200 L x 9 2L 4 1, 404 1, 404 1, 404 1,404 | [E 17 —2
Y3092 ~A L —Y—7 4 4,320 216 216 216 |EIRE 204%
33600 3tV 0 216 108 108 108 | f 248
38100 A L\ i=id 4 3, 240 86 86 76 | EIE 40,8y 7
38100 A LWz C 3 2,376 1,080 648 648 | B IR 34— A
34980 ~HFE 21 756 11 11 11 ERE 704
31500 /AR 8 3, 888 108 86 86 |FEIR S 4048
32500  AoiE 2 756 38 38 38| K4y 203 -
37560 F5I5IE 1 7,074 756 702 702 | K4y 108y 2
37600 & A 1 2,160 216 216 216 | &40 108y 7
36400 728 M 10 4,104 4,104 4,104 4,104 | EZH 17— A
38300 |2 1, 361 76 76 76 | KI5 18783y 7
38604 T Y XFH 1,296 43 43 43 | Elg 304
45240 EA—ZHED 4,217 356 356 356 | BEA 128y 7
Y4028 N=—P—F R 3,024 378 378 378 |#& 8%y 7
48000 U 2L 132 22, 248 1,080 972 972 |REA 221#
49100 NFF 60 11,016 2,376 2,376 1,944 7 4 VY EY 5BHF—2R
Y5006 #BIR (&4h) 100 29, 203 3,100 2,948 2,840 | IR B 10—
Y5006 #BOR (B44) 70 18, 403 190 190 160 |BEIR B 1008y 7
&gt 2,122 557, 231 ‘




